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Al 10,394,032
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J| 105,634
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g2 2 B8 & 22 246,292 249,892
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Al 158,696
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QoI gt ALY A 4= R 24 AL 30,0008 x123] 360
Odtd 4= =Z A 30,000 %220 A~ x12& 7,920
Ogtt4L2Y| 17,376
Ot 2 MOoIL &oHy| 100,000& *2H x53| 1,000
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OXNEH(NESHESXE SFH Y £4&4]) 11,500
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203 R F & 3,000 3,000
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O&EE M AIHFA 3,000
206 M = dl 10,000 10,000
01 X2 bl 10,000 10,000
OESHRE YR ALY 10,000,000& *13] 10,000
307 2Iz2t0| & 8,000 8,000
02 DI AAIE E X 8,000 8,000
OFHEHE2SAHN A ot Al &L MEY
| E&AS 3,000
QBHZASAZYRAAIXNE QX (X) Mg
2= 5,000
308 XX SHHSOIH 35,000 35,000
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Jl=Hstiis 2el
FE U 22l (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OMEA s=MEHE HHEES HH
600,000& 108 6,000
202 O4dl 4,900 4,900 0
01 = LHA YI 4,900 4,900 0
OstZdEHd R=2A Kl 4,900
Sdmol 2HS30H A= (BEx) 20,043 38,615 N 18,572
J| 18,038
< 1,002
Al 1,003
301 L2 LS 20,043 38,615 AN 18,572
J| 18,038
< 1,002
Al 1,003
11IIEtEA S 20,043 38,615 A 18,572
OAdIo +M20 XF  1,670,250& <1204 2 20,043
J| 18,038
< 1,002
Al 1,003
SdiolE ®Mel K& 549,600 571,200 A 21,600
= 268,800
Al 280,800
201 Let249] 12,000 0 12,000
01 At 2teltl 9,000 0 9,000
OsdiOIE HMel XA Xz 9,000
02 =224l 3,000 0 3,000
O£dIOIE HMel XNJAXE FFUI 3,000
401 AIEHI L 20 537,600 0 537,600
= 268,800
Al 268,800
01 A& HI 534,214 0 534,214
OsdiolE HMel XA 537,600,000& *99.37% 534,214
= 268,800
Al 265,414
03 Al S THHI 3,386 0 3,386
OsdiolE Hel X3 3,386
LXSAUHOE Ml 50,000 0 50,000
401 Al B2 28I 50,000 0 50,000
01 A& HI 50,000 0 50,000
OYXIZO0IE Hel(AI#) 10,000 5,000 50,000
SHZSI HEILA HZ ALY 51,000 0 51,000
= 25,500
< 7,650
Al 17,850
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2M: 33
M JIFHIIE 2l
CHol: MEN= R AR CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
01 X2 H| 8,000 10,000 A 2,000
OMEHDNSMZE EXNSE L ESHE 2 8,000
= 2,400
Al 5,600
301 et A= 15,000 15,000 0
= 4,500
Al 10,500
11 J|EtE A= 15,000 15,000 0
OMENH DM S 4=0H 15,000
o=t 4,500
Al 10,500
NAMEIHERJAG (NS SRAAY) 100,000 100,000 0
N 50,000
Al 50,000
101 Q124 4| 5,000 5,000 0
Xl 2,500
Al 2,500
04 JI2ZtHIZ22NEES 5,000 5,000 0
odcg = 22 oAl 5,000
Xl 2,500
Al 2,500
206 M = dl 10,000 10,000 0
N 5,000
Al 5,000
01 X2 bl 10,000 10,000 0
OANEY 2ARE ¢ 10,000
Xl 5,000
Al 5,000
307 212t0| & 25,000 25,000 0
Xl 12,500
Al 12,500
02 IZFEAAIRE E X 25,000 25,000 0
Ootd &2 Al s4 & &4
2= 25,000
Xl 12,500
Al 12,500
401 Al EHI L 204 HI 60,000 60,000 0
Xl 30,000
Al 30,000
01 Al&H| 59,460 59,460 0
Oodca SAAY 60,000,000& *99. 1% 59,460
N 30,000
Al 29,460
03 AlE 20| 540 540 0
oA =AY 60,000,000& *0.9% 540
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
lEEdel DA MHI2SHME AN (BX) 24,000 20,000 4,000
< 7,000
Al 17,000
101 @14 Hl 4,000 2,000 2,000
< 1,200
Al 2,800
04 JIZHHZ2XRHEE S 4,000 2,000 2,000
Oulgdel otz 2el /Al 4,000
< 1,200
Al 2,800
201 L2l 10,000 10,000 0
< 2,800
Al 7,200
01 At 22l 10,000 10,000 0
Oontald A 2el & etiie =4 5,000
< 1,400
Al 3,600
ontaz 22 M= 2,000
< 600
Al 1,400
OntaZ2 MEeH2sHHE 3,000
< 800
Al 2,200
206 T 24 10,000 0 10,000
= 3,000
Al 7,000
01 =8l 10,000 0 10,000
Oulgdel ot 238 78 10,000
< 3,000
Al 7,000
MEf=MBZTRANL (A2 IMEIZRR EAAR) 800,000 800,000 0
Xl 400,000
= 200,000
Al 200,000
201 Let24E] 5,000 0 5,000
X 2,500
< 1,250
Al 1,250
01 At 22l 5,000 0 5,000
OMEf2ZX ol & E2E2 M 5,000
Xl 2,500
< 1,250
Al 1,250
401 A2 HIL 2 TH Y| 795,000 800,000 A5,000
Xl 397,500
< 198,750
Al 198,750
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 789,992 794,960 N 4,968
O Y MSH2 MEZZ U9E THAY
795,000,000& *99.37% 789,992
Xl 397,500
< 198,750
Al 193,742
03 AlE S THHI 5,008 5,040 A 32
O Lo W2 MEIRE WE XA 5,008
MESIE SJAAMY (FEX MEICIE SAAY) 1,000,000 0 1,000,000
Xl 500,000
Al 500,000
401 AIEHI L 2 CHYI 1,000,000 0 1,000,000
Xl 500,000
Al 500,000
01 A& HI 993,700 0 993,700
O=ZH (L) MEiotd S3AY
1,000,000, 000 *99.37% 993,700
Xl 500,000
Al 493,700
03 Al S THHI 6,300 0 6,300
OFEH(STH) MEHGHAE SR
1,000,000, 000& *0.63% 6,300
HHE A 22l 31,604 18,730 12,874
g3egael 31,604 18,730 12,874
201 L2l 12,674 600 12,074
01 At 22l 12,674 600 12,074
OBTRY ZFTY HTLAN 48
300,000& 33 900
OUJItH=EAE 2EE A 58 =2
497,400 * 1000 & 4,974
Ot a &= I =l 180,000& =10 1,800
OO0l LHII0IS FHAIHE PAHS 2 A==
5,000,000& =13l 5,000
202 O4Hl 4,000 4,000 0
01 S LHOIYI 4,000 4,000 0
OZXNE ERF& ¢l 4,000
206 M= Hl 14,430 4,630 9,800
01 =4l 14,430 4,630 9,800
OiEga ¥ dtd=s ZAE R2XM=+8 2L
100,000 » 12+ A 100
O+22Y YHEBE(ERE 5) 7Y 4,530
E==(12m) 150, 000& 52 750
SxHelH 18z ) 40,0003 +x7& 280
REXXE 50,0003 10 A 500
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25&A 2gAR(EX) 14,300 320,000
& 1,220
Al 13,080
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M J=EsE 22
& J=He HEdd CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 gt L= 12,000 9,000 3,000
2 6,000
Al 6,000
MIIEBELSS 12,000 9,000 3,000
O2&aitAa AHALEHE &FHl X3
30,000 *400 Al CH 12,000
2 6,000
Al 6,000
Clean & =4 5,987,175 6,163,693 A 176,518
= 1,040,490
< 57,990
Al 4,888,695
A FH 2 836,100 1,078,054 A 241,954
= 60,000
< 20,000
Al 756,100
Fadgae 699,100 943,340 A 244,240
201 Let24dy] 375,000 405,000 230,000
01 At 22/l 5,000 5,000 0
Oget=gH| 5,000
02 =224l 370,000 400,000 A 30,000
Ooxg |SF4l 290,000
OXg =&l 80,000
202 O4dl 24,400 24,400 0
01 = LH 4 1 24,400 24,400 0
OHLEY Y2FT 01d 24,400
206 M= Hl 142,500 124,500 18,000
01 M2 8l 142,500 124,500 18,000
Oogdllsta #2455 £ 4,000,000& *32] 12,000
oMl RnA=E ¢ 80& *1,300,0000H 104,000
OLHEAXE A5 28 10,000,000 » 14 10,000
OMYIIZEEHEE tHiEs228 7Y
660,000 25K 16,500
307 21201 A 1,200 1,200 0
05 BIZHRIE 3 1,200 1,200 0
OMgII=& &1 R3] 100,000& =128 1,200
405 Xt &HE S b 156,000 340,000 A 184,000
01 At ESFH S 156,000 340,000 A 184,000
ON&gEs8s =HXE 78,000,000 *2CH 156,000
MYDISSH MAXSE =H(EX) 10,000 10,000 0
< 2,000
Al 8,000
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HH: Clean & =4
et HAME B CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Yute F | 10,000 10,000 0
= 2,000
Al 8,000
01 At 22l 10,000 10,000 0
OMgDl MeldlE XN@ & #4828 78 10,000
< 2,000
Al 8,000
Sh&EGHT MHD HSAIE (GHEM D] F3HALY) 86,000 121,714 A35,714
=2 60,000
Al 26,000
101 @124 dl 83,400 85,714 N2,314
2 58, 180
Al 25,220
4 D12t ZE2XREES 83,400 85,714 A2,314
O ot&Mddl FatAtg elAdd| 83,400
2 58, 180
Al 25,220
201 Let24d] 400 0 400
=2 280
Al 120
01 At 22/l 400 0 400
OFadd sE7YHIR, &3, 22% S) 400
2 280
Al 120
202 oddl 2,200 0 2,200
2 1,540
Al 660
01 = LH o4 1l 2,200 0 2,200
Odtd Mg I HatArg 048] 2,200
= 1,540
Al 660
HESMN LA 5,000 3,000 2,000
201 Let24d] 5,000 3,000 2,000
01 At 2teltl 5,000 3,000 2,000
OB=EMN USAY AT 2 (ZY, T
g) 3,240
OH=SEM LAY ot 2tE &)
880,000 *20H 2 1,760
AL SR MY I HIAIY(EX) 36,000 0 36,000
< 18,000
Al 18,000
308 XXIEHHSOIA 36,000 0 36,000
< 18,000
Al 18,000
07 X SHH2LESE S 36,000 0 36,000




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O8&Y ot2MY I HetAY 36,000
< 18,000
Al 18,000
HIOI2 2 1,760,200 1,590,450 169,750
= 480,490
= 37,990
Al 1,241,720
HesgszelsH/AN=sts 24,300 19,150 5,150
206 M= Hl 24,300 19,150 5,150
01 M= 4l 24,300 19,150 5,150
onges =1 =0 12,500 =1, 0000H 12,500
ounagegs =1 1% 4,000& *1,0000H 4,000
OHAMI #=HE 30,000& *50H4 1,500
OsR=H¢e 240,000& 104 2,400
omMggzel=ANg 330,000 » 104 3,300
OASIN(HHAEX =HS HE) 25,0003 *24H4 600
SZEHHE =H24= 124,900 69,300 55,600
= 12,490
< 12,490
Al 99,920
301 gt d= 124,900 69,300 55,600
= 12,490
< 12,490
Al 99,920
1MIIEBESS 124,900 69,300 55,600
SEMHHE =H243 124,900
= 12,490
< 12,490
Al 99,920
METR Slady X NA(FS WE=SS A 1,500,000 1,500,000 0
HSYEAE X AY)
= 450,000
Al 1,050,000
401 AIEHI L 20HEI 1,500,000 1,500,000 0
= 450,000
Al 1,050,000
01 A& Hl 1,427,565 1,352,025 75,540
OZATHEES JIHSIEEALE XA
1,500,000, 000& «95.171% 1,427,565
= 450,000
Al 977,565
02 Zeltl 65,010 140,550 AT5,540
OZATHEES JIHSEEALE XA
1,500,000, 000& *4.334% 65,010
03 A& 2 THHI 7,425 7,425 0
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HH: Clean & =4
Sel HIIS 2 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZITHEES JIHSEEANE EXNAS
1,500,000, 000& *0.495% 7,425
SHEX-Z0/8 WEAG(EX) 1,000 2,000 A 1,000
< 500
Al 500
206 M= Hl 1,000 2,000 A 1,000
< 500
Al 500
01 M= 4l 1,000 2,000 A 1,000
O&0IH ek ot&EX 7¢ 500& *2, 0004 1,000
< 500
Al 500
==s&otE == A& 60,000 0 60,000
= 18,000
Al 42,000
401 Al HIZ 201 Y] 60,000 0 60,000
= 18,000
Al 42,000
01 A& HI 60,000 0 60,000
Ozsdotd &= XA 5,000,000 »120H 2 60,000
= 18,000
Al 42,000
Adz=g A0S ZHAMY(EX) 50,000 0 50,000
< 25,000
Al 25,000
307 21201 A 10,000 0 10,000
< 5,000
Al 5,000
02 It S AIHE L 10,000 0 10,000
Otd&g A0S ZEAY 10,000
< 5,000
Al 5,000
401 A& HIZ 201 Y] 40,000 0 40,000
< 20,000
Al 20,000
01 A& HI 40,000 0 40,000
O &E AAEOIE ZEAY
40,000,000 =14 2 40,000
< 20,000
Al 20,000
SAEF HII= 2l 933,218 1,944,200 A 1,010,982
SASF HII=S 2l 241,050 724,200 A 483,150
201 £B-2d| 3,900 3,000 900
01 At 22l 3,900 3,000 900




2A: B3
M. Clean &2 =4
&2 SAER HII2 22 (SH9: &)
SAH M -H2A () - MEAY - BES Of] Ak agﬁ Hns2
OsAlEeMy ) e228 M=
1503 *13,00001 =23 3,900
206 M = bl 12,150 0 12,150
01 M= 4l 12,150 0 12,150
OHAZES +=Hg 270,000& *450H 12,150
307 QI2t0| ™ 225,000 721,200 AN 496,200
05 QI2+RIE S 225,000 721,200 A 496,200
OSASMY Dl oIt Kl
125,000 *156E*120 225,000
SASFRHIIE M2AE FHOS XNSAS 400,000 0 400,000
401 AlIEHI L 20 4] 400,000 0 400,000
01 Al &bl 400,000 0 400,000
OSASRHIIS MelAE FEOIES XNIAY
200,000,000& *2JH A 400,000
SA2F HIIZ2 M2Ad 28 22l 292,168 0 292,168
101 21241l 68,268 0 68,268
M4 II2tH 22 NEES 68,268 0 68,268
OSAERHIIS XMeAE 29 o2 68,268
o2 94,3383 x2H x246 46,415
=54 94,3383 x2H x52! 9,812
R R =1 94,3383 x1.5x2H 15 4,246
i E 60,473,000 *11% 6,653
oF& 2t 2| Hl 67,126,000 *1.7% 1,142
201 2 Bt2 4| 206,363 0 206,363
01 At 22|l 12,290 0 12,290
OANREZE 7L 100,000& x6& 600
OHoI2 Helyl 30,000& *0.4E 260! 3,120
OST AU (YF L ANEAA) 2,570
O2R2EHI(JIH ¥ &®I&Hdl) 6,000
02 2222l 194,073 0 194,073
OHY MERZ 15,000& = 12& 180
O3 100,000 13| & x12& 1,200
(OFSE=N=2=, 30,911
O+t 232 782
OAEEHHIFXH (A4 FXH]*6.44%) 161,000
206 i 2 bl 17,537 0 17,537
01 M= 8l 17,537 0 17,537
SFHHMANE 2EHI 17,537
HIIZ XM2AE 29 e 2,457,657 1,550,989 906, 668
= 500,000
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2N 23
HH: Clean & =4
el HoI2 MeAdE 29 &2 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OUEHZZ MMAIE HILIQDI2EIMEE
) 42,135
2= 400KW*7, 4703 =123 *68% 24,383
MNEZ 198.8KW 74 412 x4hrx300L 17,752
206 M= Hl 44,600 40,956 3,644
01 =8l 44,600 40,956 3,644
O &gds 2¢ 40,000& *300= 12,000
OEd e 2el=HEI| 2L
13,0002 » 1004 1,300
OMTIIAIE S8 2822 tdAU 8)
20,000& 1001 2,000
Og® 22l (87 S) 224810 7
800,000 *43| 3,200
OMYR MY CEYA 2
9,000& x2,500m’ 22,500
ONEXE WEEE 258 22 7Y
1,800& »2,000kg 3,600
307 212t0l A 1,200 1,200 0
05 RIZHRI &t 3 1,200 1,200 0
OMAHOHE & 2elA ] 100,000& =12 1,200
401 A& BIZ 201 8I 190,000 965,000 AT75,000
01 A& HI 188,758 961,094 ATT72,336
OUAMIHEE SET SHEAY
40,000,000 x98.92% 39,568
Ol & =402 X3 Mg
90,000,000& *99. 10% 89,190
ONBEZE2 WX FHHAYY ZEIN &
o 60,000,000 =14l 60,000
03 AIE 2 THHI 1,242 3,906 A2,664
OUAMHEE SET SHEAY
40,000, 000& *1.08% 432
Ol & =4H0t2 X3 Ad
90,000,000 *0.90% 810
HEAIE AX (LA HEE SHEAY) 1,667,000 0 1,667,000
= 500,000
Al 1,167,000
401 Al BIZ 201 8] 1,667,000 0 1,667,000
= 500,000
Al 1,167,000
01 A& HI 1,659,499 0 1,659,499
OWAHIHE & 4 M 4
1,667,000, 000 *99.55% 1,659,499
= 500,000
Al 1,159,499
03 A& =2 THHI 7,501 0 7,501
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| | | OUHADH R & 4T+ Mgt =& 7,501
MEIHE S 117,000 103,000 14,000
= 14,858
= 7,182
Al 94,960
Ot == 1loHexl 117,000 103,000 14,000
= 14,858
& 7,182
Al 94,960
OFM == Ilolo At 64,000 53,000 11,000
= 14,858
& 4,882
Al 44,260
402 SI2F X201 & 60,000 30,000 30,000
= 12,858
& 4,282
Al 42,860
02 BIZtXIEANYEX(0OIETHH) 60,000 0 60,000
OOtMESZ= TloH oA 1,500,000& x40 A 60,000
= 12,858
& 4,282
Al 42,860
405 XHA&HF S HI 4,000 0 4,000
= 2,000
= 600
Al 1,400
01 AL 2 FF S| 4,000 0 4,000
O0tM=ES OoHoegAlE XIS
4.000,000& * 1Al 4,000
= 2,000
= 600
Al 1,400
Ol E=2 30,000 50,000 A 20,000
301 et A= 30,000 30,000 0
11 J|EtE A2 30,000 30,000 0
ORMOINMSE =5 BAZ(DI2HRAZE) 10,000
OfdiotMss & BAS(Iol&XIE) 10,000
OfMES=E XU &4 10,000
OfMEE Ilof EAAMNYE(EX) 23,000 0 23,000
= 2,300
Al 20,700
301 LBt A= 23,000 0 23,000
o= 2,300
Al 20,700
11 JIEtE A2 23,000 0 23,000
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Al 20,700
HH2HAL (A D) 3,612,477 3,527,698 84,779
olaadY|(2&d 1) 3,592,677 3,507,898 84,779
ol Y| (& 1) 3,592,677 3,507,898 84,779
101 2121 4| 3,592,677 3,507,898 84,779
03 2IAHAZZ2XHE %= 3,592,677 3,507,898 84,779
O&tH 2| (69,154 0| BH) 3,480,177
PiRE= 1,307,340& 69 x12& 1,082,478
DI 1,877,340 x69H x200% 259,073
d=24 1,877,340& 69 x90% 116,583
M= che | 1,877,340 *69H x250% 323,842
NE2L (A 40,000& x56H x12& 26,880
=LY (IIE}) 20,000& *154H «12& 36,960
IS4 (3XH)
(30,000 x27H « 122/ 480,000 »2H 122 ) 11,640
SR 90,000& 69 x12& 74,520
ARG 70,000& 69 x12& 57,960
HHZAH| 160,000& x69H x12& 132,480
JFH 2 & H] 110,000& 69 x12& 91,080
nEY X 140,000 69 x12& 115,920
HAE S| 1,877,3403 x69H *120% 155,444
A2t 225
8,307& x1.5x69H x10A| 2t x 128 103,173
o224
8,307 3 x0.5%x2A| 2-*69H 28 x 12& 192,590
U222 LG 66,456 *1.5%69H x5 x12& 412,692
AXRmaIaEIHsEY 66,4563 x69H x 152! 68,782
AFESHH (DEstM) 340,000 28X 43| 38,080
E&Z S22 A
70,000,000 x224 440,000, 000 =1 180,000
O&gs & oM 2 500,000& x69H 34,500
OMMEE 78,000
=22 (23 D) 19,800 19,800 0
Jl2dd (&3 ) 19,800 19,800 0
201 Yet2 | 15,000 15,000 0
AP 22| H| 15,000 15,000 0
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203 Y2 F X Y| 4,800 4,800 0
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WEHHXZ 226,402 206,991 19,411
JISNES 226,402 206,991 19,411
702 JISEES 226,402 206,991 19,411
0MNII3EES 226,402 206,991 19,411
OHJIExdelAld =XIS(XYIISE S
THOHCH 2) 764,012,240 x10% 76,402
OHIIEMelAld =eXIINS(HEES) 150,000




